N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

true tracks
om

=
o
S

duplicate tracks

[
T
. : :
= —ARREAREEEE AREEEE EREE
-
B o TR R

i<}
§ 1.2 1i:
. T aT T ™
1A mE d] | '
4 4 . . 4 pa-q-n R Vo R
0‘25 20 15 10-5 0 5 10 15 20 25 —25 20-15-10 -5 0 5 10 15 20 25 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L 2
g g
=1 =
2 2
& Si?
1 =
S
3
10° 3 LEL
2 -
10 10
10° E
10f----ie-
10 .
15
k) o+ o
& S12 g1
11
: : : : T : Ei-1-d R 0 : | ] :
-30 -20 -10 O 10 20 30 -30 -20 -10 0 10 20 30 -30 -20 —10 0 10 20 30 =30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


